Exercise for QUIZ 2, level 3

GRAMMAR SECTION

I
Rewrite the sentences so that they have the same meaning. Use the 

appropriate structure and modals of obligation, recommendation and 

permission.









1.-
We couldn’t use the calculator in the maths exam when we were in secondary

           school.

Our maths teachers ............................................................................................ 

2.-
It's not a good idea to swim immediately after having a meal.


You.......................................................................................................................

3.-
It’s not necessary to wear formal clothes for the Final English Exam.

You ......................................................................................................................

4.-

Yesterday my neighbours called the police because my son was giving a party and the music was far too loud. Robert was told to turn down the volume.


The police ............................................................................................................  

II
Spot the mistake. Provide the correction for the wrong sentences.



         

1.-  I don’t like so much going to restaurants, because my girlfriend doesn’t like the food I like. I enjoy many different types of food, but she only likes the Chinese food.

2.-. Let me just to ask you one single question: Do you agree or not? The rest can be arranged.

_____________________________________________________________________

3.- Children under 12 don’t have to sit on the front seat. It’s too dangerous!

4. The teacher made us learn dialogues in English by heart. She said it was an excellent exercise, which we didn’t believe.

_____________________________________________________________________

      5. A: How do you get to university? B: By walking.

      _____________________________________________________________________

VOCABULARY SECTION

I
Choose the word or phrase that best completes the blanks in the sentences 

below.








            

1.-
Jenny is absolutely overqualified for that job. She has an MA in Humanities and a  ..................... in physics, I think it’s an MSc.

a) degree

b) course

c) mark

d) subject

2.-
You can’t .............................. here! Don’t you see the continous line?

a) pass away

b) overtake

c) take over

d) pass on

3.-
Everybody knows that crack cocaine is highly ................................. .

a) addict making

b) depending

c) addictive

d) addict

II
Complete the sentences with the correct word. The first letter is

            given. 










1.- Yesterday I parked under a “No Parking” sign and a traffic w ______________ put a parking ticket on the windshield. I don’t have any money right now, but I can pay it within 28 days. 

2.- Unfortunately I couldn’t avoid the crash. That car appeared all of a sudden and I had no chance to b ________________.

3. People everywhere in the world celebrated the World Carfree Day on September 22. In Santiago it caused a huge t _________ j ____________ , because the police had banned cars from the city centre.

